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Math 2030, Winter 2016, Quiz 3a

29 January 2016
R. Bruner

No calculators needed or allowed.
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Let ’r(t): (t2+2’ Y t2+2>'

1. Find lim 7(¢).
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2. Show that 7(¢) lies in the plane y + z = 1.

3. Find 7 (t).
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4. Find the maximum and minimum values of z(t) = 7(¢) - 7.

{-—‘;1‘:00
z e - 24t" _ /
2 g; .[ZI—E ad 27{2’%2 so g = AT
4 3
-/ 2(Ha) -ty () 2eptd -~ 7\
5 == | e T e
q-242  YF vt
= (Tanay Ty e
=2
: gl o = 42 =>tTF
. Max/ﬂdn x =2 X=0 =2 Yy-2t= °
S (=)= 2L =\%- amd  f(—VT) = '—iz ov €
° N g
since x—> O as

Ahe mox anmd i ﬁeg?,e(«-\-\ve\q}




